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YT AT FTer 15 Frve H e o B 3i oo o [ e s &, frert 40 fiee st oy

forsaa ussil @1 Rraem
4. S : Rl L . B P S LR e St o) T e e e L . _-E_arﬁ_gr_'._ '., ._::.
" |[EXAM DATE| SHIET |QUESTION ="~ = | opTioN-A | oPTION-B | ‘OPTION-C | opTiON-p: | Dechred \Final Correct
No 0T R Cat e R T e e T oot | enest 1 Option:
d KU ~ ST R P N Qption. | |0
In this question, a statement is given followed by two conclusions. Choose the conclusion{s)
which best fit(s) logically. Statement: Some clerks are promoted as officers. Neither
Conclusions: 1} All clerks are promoted as officers. |1} Some officers were clerks. Ont Both conclusion |
ST W, W@ HUE S A% o e far e 8 oF fyed (o) w1 3E, S iie T ¥ wEiite e w conclu;i’m | |Only conclusion| - conclusions | | or Il folfows
FFIERYT R & It follows and Il follow | =7 &t foysed |
11 01-02-2024 | 10:00AM T follows a‘ﬁa B I fresd | 3 ST‘R?T & B CANCELLED
T . ‘ eyt forsee | .
G FEADT DY AT B WY TSI 2T T " SR ERET | e 1 2f o 1)
st I ST R &) | ST T
|} Tt B SRR & W 3 Ta e (T T | &
i) & AR T A
201022024 | 3 R preier S g 83 % A e Ry d s PR o A Rty dew FEOHHTAT EEC) D | CANCELLED
1-02-2024 :00PM :
Ty < o, v Sy T il A ety
If Dinesh says, "Smita's mother is the only daughter of my mother,” then how is Iniyan related
3 | 03-02-2024 | 3:00PM . Brother tncle Father Grandfather B CANCELLED
to Smita?
4| 02.02-2024  10:00AM [T FERIT. FrgEe Forerdt fgdt fargzhr foryes B | CANCELLED
Nisha watked 45 meters in the south direction. After that, she took a right turn and walked 55
meters. Next, she took a right turn and walked 55 meters and finally she took a right tum and
5 stopped after walking 55 meters. Find the distance of Nisha from the initial position. 10 metres 12 metres 13.5metres | 15.6 metres
02-02-2024 | 10:00AM \pverr ofaor foe 3 45 e =Tt &, T are e ot e Ted ¥ aie 55 Nex e 2 B AR AE | 10 1278 135%ex | 1seder | O |CANCELLED
T SR gt & of 55 Hiew Ta € ofiF o ¥ 77 o e gech & site 60 Hex wer § 918 v S
B e fefer e & o s Aifvg?
Sumitha leaves her house at 15 minutes to seven in the moming and reaches Vanitha's house
in 25 minutes. They finish their breakfast in another 15 minutes and leave for office, which
6| 02 takes another 40 minutes. At what time do they leave Vanitha's house to reach the office? 745 am. 7:25 a.m. 8:15a.m. 8:05 a.m.
02:02:2024 | 1000AM | oo e ey ree 15 e R Y ER Y PRt § ok 26 P Y AP S R uET I MY | WWE 745 | GaE725T | gmeedssd | gwmaosaw| © | CANCELLED
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" [EXAM DATE rSHIFT | QUESTION - | OPTION-A | OPTION-B | OPTION-C _OPTION-D l::EcIared _Ei.naf. C?_rr_ect
The possessed by an object is the energy present in it by virtue of its position or ‘Thermal Potential Electrical Mechanical
— otential enar
Q2-02-2024 | 10:00AM |configuration. energy A fgy energy energy B CANCELLED
Tt geg o Sufer, . S FReafey A féreame o amuR W e dige St B & AT St i et | i ot
A fishing boat saifs 7 km south in still water. It then turns east and sails 18 km, furns north and
sails 5 km, then turns left and sails 18 km. How far is the boat now from the starting position? 10k 1k 2k 6k
. m m m m
02-02-2024 | 3:00PM [T Ol Tehg avett A1 feere ot & 7 el afior Bt aire werdt 7 O O it sie geet & aflv 18 10 fod 4 Foc o Fot & ot C | CANCELLED
it Tt 2, SO B SN gt st 5 Rt werdt & fr e et ¥ aiiv 18 ol 9ot & g, o
s Reerfer 9 bt wy &7
In the given figure. the circle represents artists, tviangle vepresemis
¢ doctors., and rectangle represents players, Which region represents
- artists whe are also doctars only?
02-02-2024 2:00PM A G & D CANCELLED
0220 00 A G E F
02-02-2024 | 3:00PM [In the year 1950, which of these states was established? Tripura Taminadu West Bengal | Uttarakhand C CANCELLED
1 Sujitha went to a shop and bought a sofa. She got a 20% discount on it. Had she gotten a 25% Rs.5000 Rs.10000 Rs.20000 Rs.25000 B CANGELLED
(17 R . " S. S. . .
03-02-2024 | 10:00aM discount, she would have saved Rs.500 more. How much did she pay for the sofa? s s
Study the fallowing har graph and 2nswer the queation yiven below je.
The fallowing bar graph represents the software export aver ehe yenrs.
04-02-2024 | 10:008M Rs. 1524.72 | Rs. 144827 Rs. 1710.83 | Rs. 1787.24 c CANCELLED
- .
Find the zverage growth in crove per voar of software export from 2013 wn 2015, 3 "/A

7
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13| 04-02-2024

10:00AM

TS e T e B e B o e e d

NG

-

HEE®

B

CANCELLED

14| 04.02.2024

3:00PM

Read the following information carefully and answer the question given below.  Eight friends—P, Q,
R, S, T, U, V and W—are sitting around a circutar table and are facing the centre, but not necessarily in
the same order. R sits third o the left of T. Only twe people sit between P and V. Neither P nor Vis an
immediate neighbour of R. W sits second to the right of U. U is not an immediate neighbour of R. P sits
third to the left of R. S and Q are not immediate neighbours. S sits third to the leftof U.  Which of the
following persons sits to the immediate left of Q7

Frfefed TR @ wregEs 1 o T Ry ne e d

aEfEP, Q,R, S, T, U, VAR W IE TaER 39 & 2R siR 35 E sl dx i e w 43 €, afd
R A T ET ISR, TR R mm Wit PR v dadaa s amis H T p iR T
DV, R FEc rErT Y W, U T T A W 3T ¥ R A 3R 5 oiv Q oo v T )
S, U a7 S FiRmy T ue e 1

PR 4 i T et Q F Paeaa I AN AT R

£z

Py

CANCELLED

13| 04-02-2024

3:00PM

Sri walked 4 km towards east from home to school. Next, he turned right three times and
covered B km each time. What is the distance between his home and the schoal?

5 R B T o g bt 1R 4 fopeT =, it 32 6 foT & e e 9 AR W SR gen See IR
37 e o ofer Bt ) T B7

1km
1 Tt

2 km
2 Tt

3 km
3 et

4 km
4 Ty

CANCELLED

18| 04-02-2024

3:00PM

When is International Coastal Cleanup Day observed?

16 September

22 June

22 July

22 March

CANCELLED

17 04-02-2024

3:00PM

Estimate the value of 1/(6.98 + 2.03).

1.25

3.67

2.85

4.51

CANCELLED

18| 04-02-2024

3:00PM

Sornu ranks fourth among 3G boys in the class. Riya is three ranks befow Somu in the class.
What is Riya's rank in the bottom of the class?

20

24

27

30

CANCELLED

191 04-02-2024

3:00PM

Study the following table and answer the question given below it.
Thie following table represents the distribution of books By six different
companies—P, & R, 5.1 and U in the year 2018,

Nuaber of
dwtribotars
working with the
campirny

a Povesnings of hooky
'\“ud’“; ?.r bedk of distributed snong
sisiribnior

Namwe of thr

1500
B0t
e
23
¢ S6i : :
: T G i 5

gl

Hr

wimpa i

IRy

i

Among the total numibeyr of books distributed by cempany U the respective
ratio of academic nud non-academic books was 3 : 4. What was the number
of pon-academic books distributed by cowpany S°

1240

1820

2020

2240

CANCELLED
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o Rt R i IR : R e ere: B Correct .Option ™"
: . i : R Optiori PRlORL
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which
best fit(s) logically.  Statement:  To cultivate interest in reading, the school has made it compulsary
from June this year for sach student to read two books per week and submit a weekly report on the Neither
books. Conclusicns: | Interest in reading can be created by forge. H. By this process, all the Both conclusion |
students immediatety develop interest in reading. Only o . .
. ) . ) . nly conclusion| conclusions | | nor |l follows
TN, T T @ 9 O I 190 Y B 9 P (o) @ o, A i e wxifes w9 argeer conclusion | Y N
20| 04-02-2024 | 3:00em [N follows Mollows | and llfollow | =T ' b |cancelED
‘ Faer e 1| | fFrwd 1 siten | afeerdr
G e e | & o
T ol ST e 3 R, e g e o 9 el e b R iR e 21 v e o e o | o A A1 e FIEO !
TrATfEE R T T T srfar o B R & ST
Fresd: %I
I. T W oy S teT & of T B
I1. T BT Y shem: g 3 iy fwle g
” fag o regier v B B IR Aeer Ry E v Reer wm e el By T wome, fafr . - 5 | CANCELLED
04022024 | 3:00PM |opo v ) cpuifes it ey, B Ry R S e
22| p5-02-2024 | 3:00pM SR @ & A T AR @R Fer o g F e @ W o TEf NG IEHR | ST PR | I AR . A | CANCELLED
Last Thursday
23 When is the World Maritime Day observed? of September 27 July 18 June 5 September A CANCELLED
05-02:2024 | 3:00PM | o opd forer sy eerrar e 2 frdae o 21 e 18 37 5 Ry
aied wmE
241 06-02-2024 | 10:00aM {Find the ODD one out from the given options. Chord Radius Diagonal Diameter C CANCELLED
25 Naga walks 1.5 km from point P in the north. He then turns right and walks 2 km to reach point| 2.5 km, south | 2.5 km, north | 3.5 km, south | 3.5 km, south B CANCELLED
06-02-2024 | 10:00AM Q. How far is Naga from point P and what is the direction of Q from P? west sast west east AN
How many irizngles are there in the givenfigurs?
25| 06-02-2024 | 10:00AM \ 3 4 5 2 C | CANCELLED
b
\
. Find the length of one side of 3 rhombus whaose area is 24 cm? and the sum of the lengths of its diagonals is 14 cm. Som 4cm 3cm 6em
27 | 06-02-2024 3:00PM sy o ves g o) efer s B R SrTeet 34 902 8 Al sords Rt <Y TR st Ao 14 A B 5% 4S9 3@_‘:& Sﬁ"ﬁ' A CANCELLED
28| 06-02-2024 | 3:00PM | 37RO 1 ¥ Fhgea & Torg fovey oef  wnfey srarertt qRee R WH a2 1953 1964 1977 1970 CANCELLED
29| 06-02-2024 | z:00pv [T F e WifteD yeem A 2019 A9 BRE e ~ SRS TR AAFTH | ISR wee | e fymer B | CANCELLED
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Sunitha starts a business and after a few months Meera joins with her. If their investments are .
30| 06-02-2024 | 3:00PM |in the ratio of 2 : 3 and profits at the end of the year in the ratio 6 : 9, after how many months 2 Months 3 Months 4 Months 6 Months B CANCELLED
Meera joins with her?
31| 06-02-2024 | 3:00PM |If 2.125 x 10<sub>k</sub> = 0.002125, then find the value of 'k'. 1 -4 2 -3 3] CANCELLED
The at any point is defined as the work done in bringing a unit positive ¢charge from R Electric R
321 06-02-2024 | 3:00PM | _ | ) Electric current , Electric power | Electric field B CANCELLED
infinity to that point. potential
The first |G of Police, soon after the enactment of Police Act of 1861, for the territary which
33| g7.00.2 oAM comprised present-day Uttar Pradesh was- Court Canning Lytton Ripon A CANCELLED
022024 | 10:00AM |y 0651 2 aferer aifirrer & o B o e aTe, o A o Ty, Fovet A I e et o ST BT forer ey
= g mEfrdes 2
What annual installment will be required to repay a loan of Rs.6450 over 4 years availed at 5%
34| 07-02-2024 | 10:00AM , Rs.1400 Rs,1500 Rs.1550 Rs.1600 B | CANCELLED
per annum Simple Interest?
A square lawn of side 20 m is surrounded by a path of uniform width which is outside the lawn.
35| 07.02.202 N If the area of the path is 500 m?, what is its width? 25m Sm 3m 35m 8 CANCELLED
7-02-2024 | 10 " :
0 O:00AM e apriepe it & aTaR Bt e TIRY e P v e % o gEgTey St T 20 Hiew & af awf 2.5 A1 5 HIER 3 AT 358X
BT e 500 o Hiee &, A 39T wieTE T 8
36| 07-02-2022 | 10:00AM [HF-EEI 98 & el @5 oy 9E= FIR TREAET TG AT FELTE FEEATT C | CANCELLED
L is the father of A, who is the son-in-law of N and S is the mother of E. S is the sister of K, bauahter
37| 07-02-2024 | 3:00Pm |whois the brother-in-law of A and H is the daughter of T, who is the grandmother of E. If K is Aunt Mother-in-law | Grandmother augnterin- B CANCELLED
. . law
married to M, then how is M related to N7
18 Kirana Gharana, a most important form of classical khayal art, originated in the namesake Muzaffa Luck K
07-02-2024 | 3:00PM town of Kirana in Uttar Pradesh, which is in the district. vanamagar ueKknow anpur Agra A CANCELLED
391 07-02-2024 | 3:00pM |l-ising was a Chinese traveller who visited India during the reign. Maurya Haryanka Chola Gupta D CANCELLED
. . . . . ) . 14th
40| 08.02 15:00 When is National integration day observed in India? 1st April 1st November | 19th November N b T
-(2-2024 :00AM . . .
TR & RIS e T e T e 87 1 3ty 17992 19 TR ovember | G| CANCELLED
14 999
How much material is wasted when a sofid cone of height 24 ¢m and radius 8 cm is recast into
41 a solid cylinder of radius 6 cm and height & cm? 37.5% 52% 64% 57.8%
-02- 10:00AM - o .
08022024 | 10:00AM! |orar 6 el v ol & Qe ST el e oy AT 9 24 St g e 6 S frer o v s 37.5% 52% 64% 57.8% D |CANCELLED
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gy | e e [ RS R b S S (T T L orrect |- Qptioh
Sady vbe ilomay tabde and puncey the qurtios _vrurd i,
e e S et e S
42 2 ap gty Brou Punele B Bighest 12 the oo 2001 1997 2000 1999 C CANCELLED
-02-2024 | 10:00AM .
08-02-202 0:00 g A R i SR — 2001 1997 2000 1999 '
AfaTEl T AR, S T R A EE
e 5
g:-n m:.h::, :\u;::{’:mwuua\';:-' ‘
TET B ST RET A ST b awm A e w o e aeimed o
iy 3t T T e ufing &
Read the following information carsfully and answer the question given beiow. There are six floors in a building
numbered F1 to F6, from lowest to highest. Six shops—Xerox shop, Moblle shop, Electrical shop, Stationery shop,
Textile shop and Furniture shop occupy the six floors, but are not necessarily in the same order, with only gne
shop in a floor. {i) Electrical shop is in floor F1. (i} Furniture shop is on flaor F4. (i) Textile shop and Furniture
: : ; - i . ; Two floors
o o 7o, ol s s sscent ot et shop. Viich ot eloving ma b TRUE 7oty | IO SHOP | Mable shop between
. ni .
on o?r {VI) i0bie shop 1S adjace 0 the clecincal shap. Ich of the eligwing must be It exiie and Textile and Text|le Stationery shop
shop is on floor FE7 Xerox shop
Freaforfiae e @) s ud el < fr g s et w3 shopareon | shopareon is on a floor and Electrical
43 v I £ R 6 % BT BE Aot 8, 9eY e ¥ ST 9 UE g a7, Eee iy, wfeeer | adjacent floors | adjacent floors | higher than F3 N A CANGELLED
08-02-2024 | 10:00AM ity <corret i, S 91w it e s et o fRnedt o= feore &, i oty s v iforer & e @ ot | SiNfarg oifT iR | BiTEe ot oiw | Rerr ofiaEs | o oP e
. ~ o o SiiereT 9
o L ] THICEA AT | THNCIRT A1 | I St A IR .
(i) T fremret 9T, F1 SR R R PN s N ToifrEme o
(iiy e i, F4 TR . ! o i Sy At
(1 e St S T ot e e Y T atd # &
{iv) BT 9, O aT ¥ S AR w fem &
(v) SRIFY &g F5 frer we i
(i) GeiTergeer 910 3 Tt F d HaTEw AT &
of T AT Fe e W & A B F 9 B ey srm
Vijay walks 10 km towards east and then watks 14 km back. Next, he turns left and walks 8
km. Then he walks 8 km after turning left. Now, he turns left again and walks 8 km. How far is
44| 0802200 0 he from the starting point? 2 km 4 km 8 km G km B CANCELLED
02:2024 | 10:00AM \poor o i aire 10 Rl e & e e 14 Rl oo &, e st qean d oiv s Rl w8, | 2 fd 4 fft g falr o fomdt
o 1Y e 8 ot aerer 2, 98 iR & ad gea & o 8 el 9arar 1 98 anfis fig o e @
2 .
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08-02-2024 | 3:00PM

Study the fullewiny ling graph and apswar the qurztion gives below it,
Tbn foblrpy Yipe Sowpli brperreats the oumber nf sredeits who yoined and boft
by wollve p tir Teyteanag ol geir Bae st ey, Eo 2015 to 2014
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01-02-2024

10:00AM

P a1 B veaw e o e @ SR R 3 & g v ST 7 G SR
& 3IY aferenr 21 € w7ifer 3y ik SRR 1 5w i o o ) S R SR E ek
T I IR S e e e o O 6 amnia o, 7 wer: aftor S it 4
STEIIR @ 3 Wliegir i el o bt Wy w1 I R TF WS T T o Uy
Tt T TR 21 e geRi & wiy vy IR BT ST 3 5T O B & 7
o < 25 it o fef ooy 1 sy g e Y T e £, 7w el B ot Ry i T
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&1 I it STeE o e 1 2 Ham wumT & ST IR T SR IR i,
R e e 82

g &t A

LRI
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T B 3R

01-02-2024

10:00AM

Find the ODD one out from the given options.

ISLOJ

LTOQM

AKDGB

FPRILG

BOTH
'‘A'AND B

01-02-2024

3:00PM

Which number will best complete the relationship given below?  111:3:: 2227

12

22

32

48

BOTH
'A' AND D’

01-02-2024

3:00PM
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S fiet ey
TN & g1 91 &7 T e
TEIER G | qof Rearnar &, | afs T Ty
o feparr e | srferernfRy & e | 2, @ afemRs Sfeemfy sk BOTH
7| 03-02-2024 | 3:00pM |SRIERE S SRR s N T 3fow & 2 o5 92 arper | wafar o e et AR T, | argfn s c B AND C'
WARTERTE, | <@, Sl (4t s smeR]  seeeEi
wais g 7 | aegfn N e BT
T AR | HOTeT BT T
o ST B
8 | 01022024 | 3:00pm [ER3TT T srory womT il 2o forr ey FHIR B TEe | suRyar g A D
9| 62:02-2024 | 10:00AM |F=T I T 96w & SR Raev arw o e ST I T YT D c
10 02-02-2024 | 10:00aM T2 fora™ & v oom T e 2 T 97 7 3 ST B MR &7 = i femiaes | wreesys GEECIPCH femm fardvor B c
. v EEron R Es
11} 02:02-2024 | 10:00AM |Ffee 5 T & T febert St s &7 56 72 48 o P B D
Study the following Table and answer the guestion given
below it.
The following table represents the perceniage of literate population
with respect to the total population of differant states over the vears.
States o TR B 28 Fai7 ) None of the
12| 0202-2024 | 10:00AM e 8 10.25lakhs | 10.75 lakhs 11 lakhs . D A
3 T BT T 5 options
3 56 &5 69 71 75 bl "
E 8 ¢ a3 9 95 E g7 ¢
¥ &5 ] 88 i Ll 93 35 %
i the average population of ali the states in 2014 was 125 lakhs, then
what was the average literats populationin that vear?
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> | EXAM PATE | SHIFT. QUESTION - - | OPTION-A' | OPTION-B ~opTION-p - | Peclared |Final Correct
S | o ' o loption
13 2 . Find the ODD cne out from the given aptions c BOTH
-02- : ind the e T i .
02-02-2024 | 10:00AM g p "A'AND 'C
Athleties  — O io "
3
Boysa = D
Gigde - N 9 “@
Dleciptined ~ [ g .
Aecording 14 the giver Venn dicgrom, the miusber of non-sthletic divelplined
" bovs s ) 28 20 10 1 b BOTH
02-02-2024 | 10:00AM 28 20 10 1 T AND D'
waRfeRy .. O Ly
& I
w - [ ]
e S Ek %5 :
s . [T] 5 9
R W W & sepn. dhwvediem she s FEFL A FE e
JR—
. . ) BOTH
15| 02-02-2024 | 3:00pPM |Find the ODD one out from the given options. H z N Y D
‘AT AND DY’
Choose that set of numbers from the four alternative sets, that is similar to the given BOTH
16 -02-20 . 10,8, 5 63,8, 3 95,24, 5 168, 15, 4 B
02-02-2024 | 3:00PM set. (8,3, 2) ( ) ( ) ( ) ( ) A AND B’
. , . L BOTH
17] 02-02-2024 | 3:.00PM |Which number will best complete the refationship given below? 14:9:25:9 12 13 31 15 D A" AND D
e
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S EXAM LaTE | SHIF‘%‘ Qu 1% QPT]ON-A’.':' A e 'OPTlf.)N.-éf-'_: aTen Dec%ared ..F.i_r]a_l _Co_rra.:_:t
Noy ol RIS e A e Correct | Option -
T SFeEE BT uga (3T Y 7y & SR fiaedl § | yre v w1 @1 9Fe wu S
AT T B & I, T, % Ieeiaar AN oRisear & 9T @ dre ga
&) ST 7, AFE W X ST 9 981 98 e 9o & fi 2, o otk ey & firT 2 g
oft 5 T I § 31R TAE § et Tt o v 3R ofew vep B 81 e e,
T NS T 9S B | U AT S AE 3 | &) 72 arrar 81 il st g
Y, il @, srse-guxrd B, o f-Fref @ aer Rem-frer o oy & =t
TR & 3T el e 2 i TR 1 A O W W SnRR Y SR O AR § T | A, S
18 - : . o qFg e e | are s
04-02-2024 | 10:00AM T T I T SR TR I T S & o g & ot s o e &, oy o fepee ¥ A ’ Al : ¥ 0 B
T STALTHA & SR I T T To9 ORT & oo 7 +ff 7ot e & forg g e
TS | TOTET sy g oY qaera Ra-giaemall oY (oiferpr & o T =eeT &,
AT Uas SISt 3 i) TET et S ol I U &, Yol € g qatel ot e o et
AT &, B T e SR T, g e U BT o aneeRivE B g ot a e
TEF [ARTaRT & U 3 §ha T 81 A1 &l 1A 8t 818 A1aT &1 377 i fevery gy sear o
w/E?
< th ol . o . .
19| 08.02-2024 | 10:00AM Astoneist r.own vertically upward with an initial veEocfy of 40 m/s. Find the 40m 80 m 160 m 200 m c B
maximum height reached by the stone. (Take g =10 ms™)
Choose the pair that shows the same relationship as in the pair given below. (14, BOTH
20| 04-02-2024 | 10:00AM (15, 23, 31) (14, 19, 24) (13,21,29) | (12, 21, 30) D
23,32) 'C' AND D'
) . . BOTH
211 0sa-02-2024 | 10:00AM |Find the ODD one out from the given options. TPDC FEXW KBFM SMPK B &' AND D"
, . . BOTH
22| 04-02-2024 | 3:00PM |Find the ODD one out from the given options. 567, 9 871,13 1071, 17 1323, 21 B 8 AND 'C"
23| 05-02-2024 | 10:00AM | TR? ¥ TTeTT O GV fehe WA 3 TBIRT BTN B7 JETER T HNTHIH GgErEEaicn D C
Choose that set of numbers from the four alternative sets, that is similar to the given BOTH
241 05-02-2024 | 10:00AM (6, 15, 28) (55, 65, 76) (23,33,43) | (31, 41,53) B
set. (5, 15, 26) 'A'AND 'B'
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Nof o ool

_ OPTION-B.

 OPTION-D -

- Earlier |
‘Declared:
| carreet |-
| Option- |

Final Corre

option

-
@

25

05-02-2024

10:60AM

Study the following table and answer the question given helow it
The following table represents the number of candidates who appeared and gualified
in & competitve examination from different states over the vears

Hiks

(AN Y

&R0 poie )

10so g

1826 § ikeo e | orsy

BUGE

1340
S

Amang the given yeazs i the table. in which year was the prrcentage of the
rumber of candidates mppeared to  the mumber of candidates quzlified the
minign n dndhrs Pradesh?

2018

2016

2017

2018

25

06-02-2024

10:00AM

Fresr 5 & i <t T sieTm 3R e ER iy E

BOTH
‘B'AND 'C

27

06-02-2024

10:00aM

Hiaar iR N T wad ¥ T e Y oy & wew o umaE

o fereiomr

TeE s

28

06-02-2024

10:00AM

Choose that set of numbers from the four alternative sets, that is similar to the given
set. (2,14, 16)

(2,7,8)

(2,9, 16)

(3,21, 24)

{4, 16, 18)

BOTH
'C'AND D

29

06-02-2024

3:00PM

In this question, one statement is given, followed by two arguments | and Il You
have to consider the statement to be frue even if it seems to be at variance with
commonly known facts. You have to decide which of the given arguments, if any,
supports the given statement. Statement: Should Yoga be mads a compulsory
subject at secondary schools? Arguments: |. Yes. Yoga is said to be good for
health. Il. No. We cannot insist on every student to do the same set of yogasanas

because their body and health conditions may or may not permit them to do the
same.

Only argument
lis strong

Only argument Ii

is strong

Both arguments
land It are
strong

Neither
argument i nor
Ilis strong

30

07-02-2024

3:00PM

A direction pole was situated on the crossing. Due fo an accident the pole turned in
such a manrer that the painter which was showing East, started showing South.

actually he was travelling?

MNorth

One traveller went to the wrong direction thinking it to be West. In what dErectiOfN\

Bagp B

South

East

West




NGEXAM TE

T QUESTION.

" OPTION-B.

~ OPTION-C- | . OPTION-D

x| Earlier
- Declared
" Correct -
* Option’

Final Correct
.- Option

31

07-02-2024

3:00PM

Find the ODD one out from the given options.

17

73

33

67

Cc

BOTH
'C'AND D

32

08-02-2024

3:00PM

There are six members in a family. H has only one child Z. S is the sister of X_ A is

the brother of M's hushand. H is the grandfather of X. X is a male.

refated to M?

How is X

Son

Grandson

Father

Brother
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